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At March 31 &3831E8S 1994 1995 1996 1997 1998 1999 2000 2001 2002 2003

M CONSOLIDATED & #&
Total Assets A& E 1,518,037 1,608,243 1,657,176 1,772,131 1,720,683 1,707,446 1,805,086 1,797,669 1,702,712 1,676,064
Return on Assets (%) FAEAF]&EE (ROA%) 1.10 0.71 1.03 0.90 0.99 1.04 1.52 1.53 2.97 3.50
Total Stockholders’ Equity #kFEE&EZA 409,712 411,163 413,725 414,906 417,755 421,443 484,239 552,790 564,077 579,706
Return on Equity (%)  #EEAF%E (ROE%) 3.97 2.70 4.06 3.72 4.14 4.23 5.90 5.32 9.30 10.35
Interest-Bearing Debt EFF&E%S 775,695 832,881 863,241 977,467 911,000 911,901 957,085 870,347 775,894 731,301
Fund-Raising Expenses ER1Z A 19,373 27,101 28,595 31,207 26,214 22,393 23,366 22,866 19,274 17,472
NONCONSOLIDATED Hi 3
Total Assets  FAEEE 1,223,890 1,266,207 1,322,537 1,457,733 1,407,889 1,399,820 1,493,699 1,490,157 1,411,444 1,381,359
Return on Assets (%) FSEAFI&E (ROA%) 1.20 0.84 1.24 1.10 1.05 1.20 1.55 1.84 3.34 3.84
Total Stockholders’ Equity #AFEE&EZA 388,287 384,618 386,501 387,623 388,512 391,295 443,363 508,185 517,070 528,264
Return on Equity (%)  #EEAF%% (ROE%) 3.67 2.71 4.15 3.94 3.87 4.34 5.37 5.76 9.45 10.26
Interest-Bearing Debt BFFEE%RS 542,626 586,840 643,129 766,493 707,692 708,245 761,946 685,525 605,616 560,047
Fund-Raising Expenses ERiZ A 17,761 18,721 21,053 24,282 21,790 18,613 18,552 17,813 15,130 12,784

@ Fund-Raising Expenses = Interest Expenses + Bond Interest Expenses + Bond Issue Cost Amortization &FIERFE =37F) 8 +1HEFS +HHERITEEN
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At March 31 &3831HE=S 1994 1995 1996 1997 1998 1999 2000 2001 2002 2003
M CONSOLIDATED & #&
Total Assets Turnover (times) FREZAEEEER ([3) 0.62 0.59 0.59 0.58 0.58 0.58 0.56 0.60 0.63 0.67
Equity Ratio (%) #REBALLEE (%) 27.08 25.57 24.97 23.41 24.28 24.68 26.83 30.75 33.13 34.59
Current Ratio (%) JRENEEER (%) 96.67 76.94 71.69 107.39 68.47 82.53 99.80 76.38 84.57 77.64
Debt-Equity Ratio (times) T vk To4AF+- L7 (2) 1.89 2.03 2.09 2.36 2.18 2.16 1.98 1.57 1.38 1.26
Interest Coverage Ratio (times) %L AN- ALY -UIF (18) 3.19 2.31 2.41 2.05 2.98 3.29 3.02 4.59 5.79 712
Interest Payment Ratio (%) & f&EFIFR (%) 2.47 3.34 3.28 3.11 2.78 2.46 2.50 2.50 2.34 2.32
NONCONSOLIDATED & J#
Total Assets Turnover (times) #4EAEERER ([T]) 0.69 0.64 0.64 0.62 0.61 0.62 0.60 0.65 0.67 0.71
Equity Ratio (%) #FEEALEER (%) 31.73 30.38 29.22 26.59 27.60 27.95 29.68 34.10 36.63 38.24
Current Ratio (%) 7ENHEER (%) 97.09 80.49 88.47 137.83 78.03 99.88 115.19 79.72 93.91 81.00
Debt-Equity Ratio (times) T whk-TOA4 7« LA (%) 1.40 1.58 1.66 1.98 1.82 1.81 1.72 1.35 1.17 1.06
Interest Coverage Ratio (times) A~ %LUAN-ANLwI-UIF (f5) 2.86 2.53 2.52 1.96 2.89 3.18 2.87 4.94 6.24 8.01
Interest Payment Ratio (%) & f&FIFE (%) 3.24 3.28 3.30 3.07 2.95 2.60 2.49 2.45 2.34 2.18

Total Assets Turnover = Net Sales / Average Total Assets 8B ARMERR =55 L5 HEA (HichTY)
Equity Ratio = Stockholders’ Equity (year-end) / Total Assets (year-end) x 100 #FEEALR=1FEX (FIFR) + L&A (BIFR) X100

Current Ratio = Current Assets (year-end) / Current Liabilities (year- end) x 100
Debt-Equity Ratio = Interest-Bearing Debt (year-end) / Stockholders’ Equity (year-end)

matE=naEE (R) - REERE () X100
TYhTOAT 1LY F=BFFaEER) -HFETEER (HR)

Interest Coverage Ratio = (Operating Income + Interest Income + Dividend Income) / Finance Expenses Y FLAN-AI\LwY - Ly # = (EEFIH+SEFIB+SRENS) -S/MEA
Interest Payment Ratio = (Interest Expenses + Bond Interest Expenses) / Interest-Bearing Debt (average) x 100 &{&FIFE= G F)B+1HEFIR) ~EFFEE EIHhFH) X 100



